
 

Example 6.11 textbook 2 stale CTMC
TO

state 0 working 1 broken

Assume time to breakdown Exp d

time to repair ExpGm

Q Rud Pi Ct

Solution This is a birth and death process with

do D An a O n 21

Ma M Nn O n t L

Poi L Peo L

No do d Vz a JM 14

qos Vo pose d

olio Va Pao Ji

Thonefone the backward equation is
this systemof ODE's is

simple enough
pjo t d Paolt dPoolt Jl to solve

Pio t guPoo Ct µ Pio Lt x X

yu
Polo t t dPao O

yup t t XP It C C constant

For t O je It d O c the machine works at E o

Cape
so XP El gull PooCES




